GLUT-1 Caveolin-1 Claudin-5

Merge + Hoechst

@)

Claudin-5/Hoechst

P=0.0018
P=0.027
25- P=040 P=0.22
o
20 P
P=0.28 o
o
1.5 1 —o°
o = °
o
104 —o
05
0.0 T T T T

DMSO

2 UM CHIR

DMSO 2uM 4uM  6uM
CHIR

Caveolin-1/Hoechst

4 M CHIR

6 UM CHIR

P < 0.0001
P=0.11
P =0.0005
o
0
P=0.13 o
P=1.0 Qge
[¢] O

DMSO 2uM 4uM  6uM
CHIR

EC number

% EC

GLUT-1/Hoechst

400 ~

300 A

200

100

P <0.0001
P <0.0001
P=0.0036 P=0.66
[e]
20 5
P =0.0039 o o C
Og
[€]

A0

100 1

80

60

40

20+

DMSO 2uM 4pM  6uM

50

40

30

20+

10

CHIR
P <0.0001
P < 0.0001
P=0.0004 P=0.62
P<00001 Oy o Ose
Qoo
Oe
[e]
T T T T
DMSO 2uM  4uM  6uM
CHIR
P <0.0001
P=0.0014
P <0.0001
%
(o]
P =0.0028
Qoo

P=0.94

O SO0

DMSO 2uM 4uM  6pM
CHIR



